
Lundi 2 novembre 2020 Terminale Spé Maths 1 

Interrogation (55 min) 
Calculatrice autorisée 

 

Exercice 1 (10 points) 

 

Déterminer, en justifiant, les limites des 

suites suivantes : 

 

1°) un = n2 – 4 √𝑛 

 

2°) un = 
2𝑛2 − 3𝑛 + 1

3𝑛2 − 2𝑛3
 

 

3°) un = √𝑛2 + 1 − 𝑛. 

 

4°) un = 5n – 7n. 

 

5°) un = 
3𝑛 + 5 sin(𝑛)

4𝑛 + cos(𝑛)
 

 

6°) un = 
𝑛2 + (−1)𝑛

𝑛 + 2
 

Exercice 2 (10 points) 

 

Déterminer, en justifiant, les limites des 

fonctions suivantes : 

 

1°) f(x) = 
1

√𝑥
 −  

1

𝑥
   en 0. 

 

2°) f(x) = 
2𝑥2 + 𝑥 − 6

4 − 𝑥2    en –2 et en 2. 

 

3°) f(x) = 
√𝑥2+ 8 − 3𝑥

𝑥 − 1
   en –, en 1 et en +. 
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